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                                                       1. All the victims drank large quantities 
          Convergences                              of beer.
                                                       2. All drank one particular brand.
                                                       3. Only drinkers of beer were affected. 


                                                        1. While drinkers in Quebec were affected, 
          Divergences                                   those in Montreal were not.                                                       
                                                        2. Moderate drinkers were not affected. 




